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Reading Text

(

‘of=2|7toj| THH|0f LH2q2t)
‘Welcome Rain, Please Come Down to Africa’

St=0f| M= oF &ej|H|H BEALL] Z2 30| 58 2T
A TV show from a broadcasting company received much attention in Korea.

O o220 WER ot=e| Y AHOQIS0| otx 2|7} 2|Y & =0| 56t 20| 7tM ‘=
ot7'E Sh= A0|ALE.

The show was about famous Korean celebrities digging ‘water spring’ in Africa where

water supply is insufficient.

0 T2IUS 2 AIZES 2 5 220| HOILE 23 2OIR| MAAZH L7 4 UKL,
Those who watched the show could feel all the more keenly how important a drop
of water is.

Sl 2|40l = B2 I71E0| H4st 2 F=0| AlZe2| 1 ATt
A lot of countries on the globe are suffering from serious water deficiency.

2 OPAOF 5t= 0| F= BC
There are plenty of reasons to conserve water.

A= 20| ¥ F5o 2|22 A7| W=2O|C,
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First, water is getting scarce.




\
1 20| 52 20| AtEsHA &/H 22 Of|HA|S AFESHA| &1 O|AStERA S S
=0{ Lt}
Furthermore, if we use more water, we spend more energy, which will increase
the Carbon Dioxide generation.
Ol &880 3| 42 Fgk2 0|RICH
This negatively affects environments.
fe|ls Ao ARE SUESE B = A% ot ULt
Our wrong daily habits make us to use water ‘like water (=extravagantly).
OI2HE oM 225t YH|&|= =2 Y=A] &l=0t £0t0F SHAICY.
For the [better] future, we should self-examine ourselves if we are unnecessarily
wasting water.
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Notes

Ot 2|710f|: OFZ2|Zt(Africa)+-Ofl (marker(to))

CHH|Of: CHH|(Welcome Rain)+-0f (vocative marker)

Li242H: Lti2| (T (Come Down)+-02t(ending(plain style; imperative))

SH2O|M = St (Korea)+-0l M (marker(in))+-=(marker(exclusion))

of &lgj|H| - ghSAtol: Bh(a) +&i2i|H| A (television)+2H&AH(broadcasting company)+-2]
(possessive marker)

T 27240]: T2 IH(TV show)+-0|(subjective marker)

Z 28 9ottt F2(attention)+-2(objective marker)+2HC}H (to receive)+-%-(pre-
ending(past tense))+-CHending (declarative))

O D2 9[: O(the) +E2 =22 (program)+-2| (possessive marker)

LE2: Y2+-2(marker(exclusion))

St=2|(Korean)

S Ho|QIS0|: RH (famous)+& 0|9l (Korean celebrities)+& (plural)+-0| (subjective marker)
otZ2|7t 2| £: ot 2|7 (Africa) +A| < (regions)+ -=(marker(in))

=0|: S (water supply)+-0|(subjective marker)

2Z5t: 2=Z5HCH(to be insufficient)+- L (ending (relative clause; noun modifying))
=0i|: Z(place)+-0ll(marker(in))

7tM: 7HC} (to go)+-OtA{ (connective; and then)

‘QE O7'S: 8 017|(digging water spring)+-E(objective marker)

= Z0|AC}: 3HCH (to dig)+-=(ending(relative clause; noun modifying))+Z (thing)+-0|
to be)+-%4-(pre-ending(past tense))+-Ct(ending(declarative))
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0| T2 88 O|(this)+E 2 12H(program)+-2(objective marker)

& B (C}) (to watch)+-L (ending(relative clause; noun modifying))

A= AtE(those who)+= (plural)+-2(marker(exclusion))

= ot &20]: S (water)+35t &2 (a drop of)+-0|(subjective marker)

Aot T Z4Q1R|: HOtLt(how)+7HSHCE) (to be important)+-L (ending(relative clause;

noun modifying))+Z(thing)+0|(C}) (to be)+-L X|(a certain period of time has passed after
performance)

MAAZAH (more keenly)

=2 4= UACE =7 (B (to feel)+-2 4= U(EH (modal aux.(can))+-U(pre-ending(past
tense))+

-Ct(ending(declarative))

S 2 (current)

A| A= 2|7 Ab(the globe)+-0fl(marker(on))+-=(marker(exclusion))

Or2: 0K} (a lot of)+-2(ending (relative clause; noun modifying))

=7+=0|: =27Hcountries)+= (plural)+-0| (subjective marker)

Al 2Fst MZESHE} (to be serious)+- L (ending (relative clause; noun modifying))

2 220 A2 Ut & E=(water deficiency)+-0f] A|E2|(C} (to suffer from)+-12 UCt
(modal aux.(to be doing))

OoOo. O

=8 S(water)+-2(objective marker)

O}740F 5t=: O}77| (C}) (to conserve)+-0{OF SHCH (modal aux.(must))+-=(ending(relative
cIause' noun modifying))

0|f&: 0|R(reasons)+-= marker(exclusion)
E’s”:f(to be plenty of)

HR=: 2R (first) +-=(marker(exclusion))
A3H

H2542| 12 U7| 20|t E=5HTH (to be scarece)+-0{ | (T} (modal aux.(to express
conditional change))+-12 2 (CH) (modal aux.(to be doing))+ -7| W20|Ct(idiom(to express
reason))

71 2|0f|(Furthermore)
Aol (more)
A SHA =B AR SHE} (to use)+-Al /(T (modal aux.(to become))+-H (connective; if)
=
O|HR|E: Of| 4| (energy )+-&(objective marker)
AHE5HA| 2|20 AHZSHE (to spend)+-Al &l (T} (modal aux.(to become))+-11(connective;
and)

O|AFSIERA BHA2EL: O|ASIEFA HHA2E(Carbon Dioxide generation)+-=(marker(also))
S0t 50{LHC}) (to increase)+- L CHending(declarative))
O|=: 0|(this)+-=(marker(exclusion))
3tZ0||: 34 (environments )+-0f (marker(to))
Z 2| 42! Z(Ch(to be positive)+-A| 24(C})(not)+-2(ending(relative clause; noun
modifying))
IS 0|2ICE P2 0]2|(C})(to affect)+- L CHending(declarative))



—

we)+-=(marker(exclusion))
FA

40
0

= (daily life)+-2| (possessive marker)

to be wrong)+-L (ending (relative clause; noun modifying))

its)+= (plural)+-2 (marker(with))

2SS EM Ch 22 2 2% SHCEH (to use water ‘like water' (=extravagantly))+-22 QU
Ct (modal aux.(to be doing))

0|2iE QI8iAM: Ol2(future)+-& I3l (idiom (for))

2L 25A (unnecessarily)

GH| 2= YH|E|(T}) (to waste)+-=(ending(relative clause; noun modifying))

£2: S(water)+-2(marker(exclusion))

A=A gl (Ch+-=2|(connective; to express judgment about guess)

| =0t 2 O}o} 317t =/ =0}t £(CH (self-examine)+-0t0F 312 CHmodal aux.(for decision))
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Comprehension Check-up

1. F0f thet =L7t?
f
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2. =2 OPA MOt St= 218 AQl O|R7t Ot A2 FAYLI?
1) 20| 38 F=aHAAM 2) Ofthetets THZ0] S0LEA 3) O|HA|ZF sl A [E - 3]

Conversation
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Susan: Uh, sorry. | didn’t realize it because | was so accustomed to it.

2 OofL2|7to| ot 71=50| 5tF St e DMI-T’-'&'E =50 ML}
Mom: The amount of water that you put down the drain for 30 seconds while you
brush your teeth and for 5 minutes while you wash the dishes is more than that of

water a family in Africa uses to cook, drink, and wash for a day.

Yot O] &= I 3022t 2 EUi= 22| Y1, 52¢ 2= S0zl 2HAE = =29 ¥
[m]

2o, O2e? 0 AU 22 S0 L.
Susan: Oh, really? | didn’t know it’s that much.
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oA0f 2te SR HIRE Y2 22 WY 4 o,
Mom: You can save a lot of water if you change little habits.

2 HE ABOM 2 B 2A471 HZ 2L HZSICHE 7|AFE $2 40| Ao, A MA|
=79 389| 10| & §= Z7I2tHA2? 2025H0)|l= CHERQ| =717t MZ5HH 20| =&
et st

Susan: | have read an article saying that water deficiency is more serious than we think.
Do you know that one third of the countries in the entire world are countries with water
deficiency? It is said that most countries will face serious water deficiency by 2025.

0k 12f, ot & EF& F40|10 3 @E L AMZIsIChL 5HEOf
Mom: Yes, that’s true. Water deficiency is a problem and water pollution is said to be
also serious.

2 A0 HE AFE H2l7| flo ARE AHA] SR 1HA L.
Susan: OK. | will change my wrong habitual way of washing dishes to save the sick earth.
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Notes

£=2k(Susan)
A
oOo. O

=8 S(water)+-2(objective marker)

=0 =1 E(CH(to turn on)+-0 =(C})(modal aux.(to be in a state))+-12(connective; and
then)

MRS tH: AHZ|(washing the dishes)+-S(objective marker)+3t(Ct) (to wash)+-H
(connective; cond|t|on)

A st ?: YA (how)+ot(EH+-L|(ending(pain style: interrogative))?

O{(Uh)

Z| &2 (sorry)

S20| £|O{ Al: St (habit)+-0|(subjective marker)+%|(CH) (to be accustomed to)+-0{ A

(connective; because)

11% DA 8k A ()+-=(marker(also))+2 2 (Ct) (to realize)+-Al(ending(making adverb)+

—10

O] &2 W: O] SH(CH)(to brush your teeth)+-2 mf(conjunctive; when)

3027t 302(30 seconds)+Zt(for)

22 BEUY=: &2 BEU(Eh(to put down the drain)+-=(ending(relative clause; noun

modifying))

=29|: 2(water)+-2|(possessive marker)

0t 2(the amount)+-2t(marker(and))

582t 5&(5 minutes)+Zt(for)

== =(water)+-2(objective marker)

HH2Z I% Sh=: A 2|E 5HEH(wash the dishes)+-=(ending(relative clause; noun

modifying))

=29 2 %' =(water)+-2| (possessive marker)+2((the amount)+-2(marker(exclusion))
otZ2|7tel: ot 2|7 H(Africa)+-2| (possessive marker)

Sk 7k=0]: St 7t=(a family)+-0| (subjective marker)

I (a day)+-Z2H(for)

- H(CH(to cook)+-11(connective; and)+0FA| (T} (to drink)+-11(connective; and)
I(CH (to wash)+-=(ending(relative clause; noun modifying))

= (water)+-ECH(marker(comparative))

0k(CH (to be is more)+-L CHending(declarative))

0{3{(Oh)

2§ ?(Really?)

D4 22 52402 A A= S22 22(CH (1 didn't know it’'s that much)+-2t- pre-

ending(past tense)+-0{2 (ending(polite))

2k2: 2k} (little)+-2(ending (relative clause; noun modifying))

&0k &2 (habits)+-2H(marker(only))

HHH & B (CH (to change)+-0{ &= (connective; even though)

or2: ok} (a lot of)+-2(ending (relative clause; noun modifying))

Aokt 4~ Q10f: A sH(C}) (to save)+-2 4= U(CH (modal aux.(can))+-0(ending(pain style:
declarative))
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e A (l)+-=(marker(also))

AMEO|M: AlZ+-0l|(marker(on))

= B=(water deficiency)

E2H7t: 24| (problem)+-7tH(subjective marker)

MZFE L idiom(than we think)

A 2t5ICh=: A12ES5HT) (to be serious)+-CHquotative(declarative))+-=(ending (relative
clause; noun modifying))

7|AHE: 7|AHan article)+-E (objective marker)

o122 A0l Ao Sl(Ch)(to read)+-2 A0| U(CH (idiom (to express experience))+-0{ 2
(ending(polite))

A M A (entire world)

=7}t2|: =7} countries)+-2| (possessive marker)

322 10]: 322 1(one third)+-0|(subjective marker)

=7tetHA L = 7Hcountries)+-2tHA L (ending(confirming <—connective))
2025490]=: 2025 (2025)+-0marker(by)+-=(marker(exclusion))

CHE22](in the entire world)

2774 274+-7H(subjective marker)

A 2HSHA|: A 2tsH(T) (to be serious)+-Al(ending(making adverb))

£0|: E(water)+-0|(subjective marker)

225 A2t st E=5HT) (to be deficient)+-2 2 (Ch) (modal aux. (will))+-2t22 SHC})
(quotative(declarative))+-+2 (ending(spoken form of ‘II’—connective))

2k (yes)

2f0k(right)

= 825 & B=(water deficiency)+-=(marker(also))

=A|0|12: ZA|0[(C}) (to be problem)+-I1(connective; and)

22 QAL 22 @A (water pollution)+-E=(marker(also))

AZ+stCt 0 5RO M ZESH(TH (to be serious)+-Ct1 SHCH (quotative(declarative))+-&0}t
(ending(speech form; to express reason))

He Y S(C) (to be sick)+-L (ending (relative clause; noun modifying))

2| & 2|7 (earth)+-E(objective marker)

Ar2|7] QI5H: A2/ (CH(to save)+-7| I3l (idiom(for))

22 = 225 (T} (to be wrong)+-L (ending (relative clause; noun modifying))
MAHA| SEEE: AHZX|(washing dishes)+&2& (habitual way)+-5E (marker(from))
DAL 1Z|(C}) (to change)+-2 A2 (modal aux. (will))

Comprehension
1. MA2| Bt O|40| & = =710|Ct (T/F)
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Reading & Writing
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